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QUESTION 1

An audit of a customer\\'s private cloud has found that in the event of an outage the customer would not be able to
recover virtual machines quickly enough as determined by their recovery time objective( RTO). They do not have the
budget to invest in building a separate recovery site.

A. Site Recovery Manager

B. vCloud Connector

C. vCloud Air - Disaster Recovery

D. vRealize Automation

Correct Answer: D

QUESTION 2

A manager wants to know why traditional usage metering tools are less effective in a private cloud environment
thanthey are in physical environments.What statement provides the best response?

A. Traditional monitoring tools won\\'t work in a cloud environment.

B. Traditional metering tools require agents to be installed, which don\\'t work in virtual machines.
C. Resource usage is based on the overall demand of all virtual machines instead of per server.
D. This is not true, traditional usage metering tools are still the best choice.

Correct Answer: B

QUESTION 3
A public cloud provider is looking for a method of delivering services through a user interface that:
Is specific to the user who logs in

Delivers services that adhere to the specific service level Agreement of each customer Which cloud product would best
enable the provider to meet these requirement?

A.

vRealize Automation Self Service Catalog
B.

vRealize Orchestrator

C.

vSphere Web Client
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D.
vRealize Automation Advanced Service Designer

Correct Answer: D

QUESTION 4

A company has decided to move to a hybrid cloud environment.They are concerned that this may increase
management complexity by requiring multiple interfaces.Which product provides a single interface for all virtual
machines within a hybrid cloud environment?

A. vCenter Server

B. vFabric Suite

C. vCloud Connector

D. VMware NSX

Correct Answer: C

QUESTION 5

A consultant has been hired to architect a hybrid cloud solution for a client. The consultant decides to build two clouds:
one for development and one for production. Which product can move workloads from the development cloud to the
cloud?

A. vFabiic Suite

B. vCioud Connector

C. vCenter Server

D. vRealize Operations

Correct Answer: B
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